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Chapter 10 Gifted and Enrichment Answers

1. (DEA and (DBA are both subtended by arc DA. Therefore, (DEA = (DBA. (DEA is 53°, so (DEF is 53°.   

(DEF + (EDF + (DFE form a triangle. 
(DFE = 180° – (53° + 37°)


= 90°

Since (DFE is a right triangle, use the Pythagorean relationship to find DE.
DE2 = DF2 + FE2
DE2 = 962 + 722
DE2 = 9216 + 5184

DE2 = 14 400

 DE = 
[image: image1.wmf]14400


 DE = 120

The length of DE is 120 mm.
2. The central angle (ACB is subtended by the same arc AB as the inscribed angle (AEB. Therefore, (AEB = 
[image: image2.wmf]1
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(ACB. (AEB = 60° or in (AFE, (AEF = 60°.
Since CD is the perpendicular bisector of chord EB, (AFE is a right triangle and (AFE = 90°.
The sum of the angles in a triangle are 180°.

In (AFE, 

(EAF = 180° – (90° + 60°)


= 30°
Therefore, (EAD = 30°.

3. Assume that (DCE = 90°.

(HDC and (HEC = 90°.

(DCE and (DHE = 90°.
In square CEDH, 
EH = DH = CD = CE = 0.7 m.
Convert metres to millimetres.

0.7 m = 700 mm

EH = 700 mm

Use the Pythagorean relationship to find CH.
CH2 = CE2 + EH2
CH2 = 7002 + 7002
CH2 = 490 000 + 490 000
CH2 = 980 000

 CH = 
[image: image3.wmf]980000


 CH ≈ 990

The distance from the corner of the dining room to the edge of the table is approximately 990 – 700, or 290 mm.
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